CWO60SN

Lonyard Lug

Fitting to suit /

Paresonlc Tame

450

\ Slotted PTZ Disc
4 - 96,7 Rodial Slots

M0 Conduit on 1016 poo, with @30
Central Hole

w2y
=R e
N
e
N =+
Note: Slat
Orlentatlion
FIXING KIT:
MATERIAL: 4 - M6 Hex Hd Setscrew x 20 Ig
©48.3 x 3.2 WT MS TUBE e i
FINISH: 4 - M6 Spring Washers
Powder Coated D610 MW5001 All to be 5t 5tl Grade A2
Silver Gloss

1 - M20 Conduit Blanking Plug




CW960PM

Slotted FTZ Disc

4 - p67 Radlel Slots
o 1016 pcd with @30
Cenitrol Hole

M20 Concduit

200

Lonyerd Lug
—

1™
|

Flttlng to sult
Panasonlc Dame

P17

Note! Slot
Orlertetlon

MATERIAL:
B848.3 x 3.2 WT MS TUBE FIXING KIT:
FINISH:
Powder Coated D610 MW5001 1- Conduit Blanking Plug

Silver Gloss.




Mote Slot
Orientotion

7N

CW960WB

M20 Ceondult

N ¢

Lanyvard Lug

Slotted PTZ Jlsc
4 - p5.7 Radiol Slots
on 1016 pcd. with 230

Central Hole
BIE;\

274 \
Fittihg to sult

Porasonle Dome

Gt =
MATERIAL:
B48.3 x 3.2 WT MS TUBE FIXING KIT:
FINISH:

Powder Coated D&10 MW5001
Silver Gloss

1 - M20 Conduit Blanking Plug




CW960CM use with CW960WB

8 off @8

Fixi Hal 4 Holes M&
King Hales Equi-spoced
on 1016 R.C.O
10
a—4g g @
o o
[s) o
e ]
4]
2.3
AN /
10 7
80
73 15
187
MATERIAL:
2.5mm Thk M2 FIXING KIT:
FINISH:
Powder Coated D610 MW5001 4 - M6 Hex Hd Setscrew x 20 Ig
Silver Gloss 4 - M6 Plain Washers

All to be 5t 5tl Grade A2




